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Sub-Section Id : 39226636
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 392266961 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Regarding computers CPU Stands for
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1 Computer Processing Unit
2 Cover Processing Unit
3. Control Processing Unit
4, Central Processing Unit
Options :
1. %1
2.% 2
3. % 3
4.9 4

Question Number : 2 Question Id : 392266962 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct matching

1, Army Chief General a. Dinesh Tripati
ii. Navy Chief Admiral b. Upendra Dvivedi
1. Air Chief Marshal C. Amar Preet Sing
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Options :
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Question Number : 3 Question Id : 392266963 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
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Minimum age required to elect as the President of India

1. 25 years
2. 30 years
3. 35 years

4. 40 years
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Which of the following nutrient stores maximum energy per
gram?

I Roughage
2, Fat

3. Proteins
4, Vitamins
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Question Number : Yes
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The famous ‘Sumathi Shatakam’ was written by
1. Dhurjati

2. Baddena

Mallikarjuna Panditaradhya

fad

s

Srinadha

ROBDY 0B B0’ B TS

1 c‘.irgéi
2 2000
[ ]
3 oy :ﬁ@gsﬁ &o&@wﬁaéaﬁa

e
4.  Bogod
Options :
1. % 1
2.2
3.%3
4. % 4

Question Number : 6 Question Id : 392266966 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
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Pandit Hari Prasad Chaurasia is renowned for playing which
musical instrument?

1 Tabla
2. Violin
3. Sitar
4. Flute
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Options :
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Question Number : 7 Question Id : 392266967 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
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‘Panchatantra’ was written during the
E Maurvan period

2. Kanishka period

Gupta period
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4. Harsha period
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Question Number : 8 Question Id : 392266968 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The National Food Security Act was passed in the year
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1. 2012
2. 2013
3. 2014
4, 2015

Options :

1. % 1
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Question Number : 9 Question Id : 392266969 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

The headquarters of International Court of Justice is located in
the

L New York

2. Hague
3. London
4. Paris
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Options :
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Question Number : 10 Question Id : 392266970 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



World AIDS Day is celebrated on

1.  July11®
2. December 1
3. June 5™

4. April 22"
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Options :
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Question Number : 11 Question Id : 392266971 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

India’s first armed nuclear submarine 1s
1. [. N. S. Tihayu

2. I. N. S. Virat

3. [. N. S. Arihant

1. I. N. S. Astradharini
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Options :
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Question Number : 12 Question Id : 392266972 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The first Telugu talkie film was
1. Bhakta Prahlada
P Paduka Pattabhishekam
3. Shakuntala
4. Kalidasu
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Display Question Number : Yes
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‘Theology’ 1s a study of

1 Ancient Crivilizations
2. Human Psychology
3. Religions

4. Political Systems
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Question Number : 14 Question Id : 392266974 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The term “bully” is connected with this sport

1. Cricket

2. Hockey

3. Badminton

4. Tennis
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Options :
1. % 1
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Question Number : 15 Question Id : 392266975 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The writer who won the National Sahitya Academy Award for
his novel ‘Shaptabhoomi” is

1. Sannapureddy Venkatarami Reddy
2. Bandi Narayana Swami

3. Singamaneni Narayana

4. Yandamuri Virendranath
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Question Number : 16 Question Id : 392266976 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



As per Jamili elections, after the completion of Lok Sabha and
Assembly elections. Municipal and Panchyat elections should
be completed within these days
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Options :
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Question Number : 17 Question Id : 392266977 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is not a member in Trump government
1. Elan Musk

2. Vivek Ramaswami

John. G. Robert

4, Linda Mc Mahos
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Question Number : 18 Question Id : 392266978 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Dommaraju Gukesh became World Chess Grandmaster by
winning over

1. Liue Sheng
2. Asien Gava
3 Ding Leren

4. Mario Lisa
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Options :
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Question Number : 19 Question Id : 392266979 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Central government celebrated ‘Bharat Parv™ at Red fort on the

1. Independence Day
2. Republic Day

Tourism Day
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4. Constitutional Day
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Question Number : 20 Question Id : 392266980 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The present RBI Governor
1. Sanjay Malhotra

2 Sanjay Deepankar
Sakthi Kanth Das
4, Jubilent Bharthia
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Section 2

Section Id : 39226637
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 39226637
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 392266981 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Twenty seats were allotted to girl children with special needs
in these educational institutions

1. Zilla Parishad Educational Institutions

2 Kashturbha Gandhi Girl Child Educational Institutions
3 Kendriya Vidyalayas

4. Gurukula Schools
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Question Number : 22 Question Id : 392266982 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This requires for freedom of learning by children with special
needs

1. Flexible plan
2. Rigid plan

Teaching plan
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Question Number : 23 Question Id : 392266983 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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This method gives importance on speech skills through lip
reading developed by ‘Samuel Heinik’

1. Sign Method

2 Oral Method

3. Lecture Method

4, Question Method
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Question Number : 24 Question Id : 392266984 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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“Classroom would be a cinema theatre™ according to Herman.
then the students will be ...

1. Andience
2. Actors
* Dancers

4. Authors
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Question Number : 25 Question Id : 392266985 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Main aim of the Education is
I Exams. Passing. Achievement
2 Providing Livelihood

Achieving Complete Personality
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4. Making Educationalists
33&:15 o‘:‘uﬁb_ ma:ag a}gso

L 98%en, &BYE, &S

2. 23>0 sdyose

3. NOWY Sr@ie EI

4. ﬁm‘ga@&:m S5 ET A0
Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 26 Question Id : 392266986 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Main objective of this approach in making changes in thought,
expressions and behaviour in a child

1. Behavioural Approach
2, Developmental Approach
3 Multi sensory Approach
4. Diagnostic prescriptive Approach
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Question Number : 27 Question Id : 392266987 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This scheme provides economic support to disabled by
non-government organization

1. Deendayal Teacher Rehabilitation Scheme

2. Deendayal Education Rehabilitation Scheme
3. Deenbandhu Education Rehabilitation Scheme
4. Deenbandhu Teacher Rehabilitation Scheme
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Question Number : 28 Question Id : 392266988 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This clause focuses on learning needs of disabled under
“Education for all”

1. Clause - 3

2. Clause - 2

Clause - 1

4. Clause - 4
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Question Number : 29 Question Id : 392266989 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Providing principles of safe and security situations among
disabled persons is suggested by

1. National Education Policy (1986)
2, Amended National Educational Policy (1992)

United Nations Charter
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4, National Curriculum Framework (2005)
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Question Number : 30 Question Id : 392266990 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Date announced for National Policy of persons with disability
1.  10™December 2010

2. 10™ February 2006

10™ November 2006

(8]

4. 10™ February 2010
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Options :
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Section 3

Section Id : 39226638
Section Number : 3
Section type : Online
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Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 39226638
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 392266991 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The four stages of Auditory Training are Awareness.
Discrimination, Identification and

1. Assessment

2 Generalization
3. Conversation

4, Comprehension
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Options :
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Question Number : 32 Question Id : 392266992 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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‘Period of unbounded curiosity” is observed in children at the
age of

| 9 years
2. 10 years
3. 5 years
4. 8 years

3:9_;5; ForSmom 53 a’aﬁamﬁe ‘0B STPT0 ¥
?ﬁ:&:@@:&m
ik 9 K:ID-;:}’QE‘JG“E}J
2 10 ‘530;‘59‘.5‘35“&}3
3. 5 ﬁo;:ie:é“)aﬂm
4 8 moaﬁezén)c?m
Options :
1. %1
2. % 2

3.¢3
4. % 4

Question Number : 33 Question Id : 392266993 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Co-operation, leadership and self — directing behaviours are
develop in this play

1. Imitative play
2 Parallel play
3. Group play
4. Isolated play
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Question Number : 34 Question Id : 392266994 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Find out the statement not related to the development

1. Development 1s a complex process

Z Development is not measurable

g, Development is qualitative

4, Development 1s not a continuous process
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Question Number : 35 Question Id : 392266995 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Match the following

1) The theory of moral development a) Bandura

11) Operant conditioning b) Sigmund Freud
iii) Social Cognitive Learning Development c¢) Kohlberg

iv) Theory of Psycho Analysis d) B. F. Skinner
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Question Number : 36 Question Id : 392266996 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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An instrument to express our feelings, i1deas and thoughts to
others

1. Speech

2 Thought
3. Vision

4. Listening
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Options :
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Question Number : 37 Question Id : 392266997 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The condition where the previous Ilearning shows no
difference in learning of a new activity is called

1. Zero transfer

2. Positive transfer

3. Negative transfer
4, Bilateral transfer
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Question Number : 38 Question Id : 392266998 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Identify the term not suitable for the classification of learning
styles based on sensory organs

1. Visual learners

2. Auditory learners

3. Kinesthetic learners
4, Music learners
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Question Number : 39 Question Id : 392266999 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Appreciating a child by saying ‘Shabhash® for getting good
marks refers to

1. Primary reinforcement

2. Secondary reinforcement
3. Social reinforcement

4, Negative remforcement
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Question Number : 40 Question Id : 3922661000 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Expand AVT
AVT 380w
Audio Visual Tools

1
2 Auditory Verbal Therapy
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Auditory Visual Technique
4. Aural Visual Therapy

Options :
1. % 1
2.2
3. % 3



Section Id :

Section Number :

Section type :
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Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
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Question Number : 41 Question Id : 3922661001 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Fetal responses to sound stimuli are termed as

L Neonatal hearing

12

Prenatal hearing

L |

Pre-Lingual hearing

4. Post — Lingual hearing
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Question Number : 42 Question Id : 3922661002 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

Match the following

1) Physical Activities a) Mock Parliament. visit to
gram panchayat
ii) Social Activities b) Music. painting

ii1) Citizenship Activities c¢) Indoor. Outdoor games
iv) Aesthetic Activities  d) Scouting, Community work
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This method 1s useful for children with hearing impairment to
develop speech

L. Auditory speech method
2. Auditory method

Auditory - Universal method
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Auditory - Global method
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Pre - lingual deafness means

1. Hearing impairment acquires congenitally or before the
language development period

2. Hearing impairment due to infection

3 Hearing impairment due to accidents

4, Hearing impairment due to age related problems
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This 1s an informal Hearing Test

s Brainstem Evoked Response Audiometry
2, Behavioural Observation Audiometry
3. Immittance Audiometry

4. Speech Audiometry
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Involuntary closing of eyelids is observed in neonates when a
sudden loud sound presented is called

1. Auro — Palpebral Reflex

2. Auto — Peripheral Reflex

3. Auto — Immuno Reflex

4. Auto — eye Reflex
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Stirrup shaped bone in human ear
I, Malleus
2. Incus
3. Stapes
4. Mastoid Bone
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Most common cause of conductive hearing loss

1. Presbycusis

2. Apnea

& Otitis Media

4. Auditory Media
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Brainstem evoked response audiometry is also called as
1. Auditors energy potential

2. Auditory evoked potential

3 Auditory evoked response

4, Auditory effective response
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This 1s a group amplification system having mobility in the
classroom for children with hearing impairment

1. Speech Trainer

2. Hard — wire system

3. Loop induction system
4, Speech Banana
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This 1s not a central auditory processing disorder
L Difficulty in hearing in noisy environments

2. Problem in discriminating sound/words

fid

Difficulty in putting ideas into words
4, Problem in listening
o0k VG (B3 S0 =B

g

Shclai ety TESBerS. A5E08° 3208

2. ¥reo/d0ro g S5ET5R0 KQosiod” B
3. eSSt SSon dored’ _"D:ae:!‘.gé:;éﬁ 3e)0doen

4. |¥9£208" 0303

Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 52 Question Id : 3922661012 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Use of Language in communication 1s called
1. Phonology
2. Morphology

Semantics

Lad

4. Pragmatics
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Picture board. keyboard. speech generating computer program
are categorized in this technological devices.

1. Assistive Listening Devices

2; Augmentative and Alternative Communication devices
3. Alerting Devices

4, Language devices
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This 1s not prerequisite for normal speech development
i Normal Neuro — Motor Maturation

2. Normal intelligence and cognitive development

[N

Adequate physical appearance
4. Normal Auditory system
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A child with hearing impairment can feel by placing a finger
on teacher’s throat in speech training s a ...

1. Visual strategy
2. Audio strategy

Tactile strategy

fd

4. Total strategy
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New way of education process in creating multiple learning
opportunities for all students

8 Peer Learning

2 Universal Design for Learning
3. Tadoma Learning

4. Universal door for Learning
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Identify specific adaption to teach children with hearing
impairment

L. Providing barrier free access in school
2. No break time in school hours

4 Allow to participate in limited areas
4, Enhance lip reading conditions
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In this method teachers play the role of mother in class to
develop language in children with hearing impairment

1. Mother Response Method
2, Mother Receptive Method
3. Maternal Receptive Method
4. Maternal Reflective Method
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Language and speech will not develop suddenlyin this hearing loss

1. Mild hearing loss

2. Moderate hearing loss
3. Severe hearing loss

4. Normal hearing
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Major stages of auditory training according to Carhart
approach (1974)
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The concept of ‘Speech Banana’ is used for
L. Cochlear implant

2. Hearing aid selection

T4l

Audiological evaluation
4. Audiogram
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Symptoms of Meniere’s disease
1. Otitis Media

L Cholesteatoma

LS |

Otosclerosis, Presbycusis

4. Tinnitus, Vertigo and hearing loss
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Brain'’s ability to interpret and make sense of images. letters
and numbers seen by the eyes.

s Visual perception

2, Mutual integration

3. Eye — hand co-ordination
4. Object manipulation
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Expand ‘PECS’
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Pictorial Expression Class Students

1
2. Photo Enhance Comprehensive System
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Picture Exchange Communication System

4. Picture Enhance Correlation System
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Question Number : 65 Question Id : 3922661025 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Match the following
i) Modelling a) learning step by step
ii) Prompting b) removing hints gradually
iii)) Shaping ¢) giving correct model before child says
iv) Fading d) giving hints
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This is not a part of speech and language stimulation

1. Talk in simple words

2. Always use mother tongue

A Gain attention of child towards face
4. Using conventional signs
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The movement of tympanic membrane in a graphical form
called as

1. Audiogram

Z. Audiometry

3. Tympanogram

4, Tympanometry
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Condition associated with chronic otitis media

1. Afresia

2, Cholesteatoma
3. Otosclerosis

4, Anoxia
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Hyper Nasality 1s an error in this speech parameter

1. Pitch

2 Loudness

3. Quality

4. Sound
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An approach of a child to remember and give an appropriate
response to a stimulus is called

| 7 Formulated Answer
2. Reading a loud

3. Prompted Response
4. Imitating
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Facing difficulty in performing activities in coordination and
movements of body parts is called

L, Aphasia
2. Dyscalculia
3. Dyspraxia

4, Dysgraphia
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A teacher records what students learn. perform, behaviour,
achievement written in a

1. Interview

2 Rating Scale

Observation Schedule

4. Anecdotal Record
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Identify the components of expanded core curriculum

1. Ortentation and Mobility, Social mnteraction skills,
Independent living skills. Assistive technology.

2, Social interaction skills. Interview. Independent living.
Assistive technology

Assistive technology. Portfolio. Rating scale,
Inventories

LS ]

4. Substitution. Omission. Adding. Fading
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This skill is required to orient children about surrounding and
skills required to travel

1. Orientation and Mobility

2. Functional Academic Skills

[N

Sensory Efficiency Skills
Social Interaction Skills
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Universal Design for Learning (UDL) main principles

i; Reading. Authority. Entertainment

2. Reflection, Anticipation, Energy

3 Reinforcement. Activity, Evaluation

4. Representation, Action and Expression, Engagement
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This 1is not a component of Accessible India Campaign
1. Built Environment Accessibility

2. Transportation System Accessibility

fad

Information and Communication Eco-System
Accessibility

4. Information and Comprehensive Evaluation
Accessibility
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Rate of speech in students with hearing impaired is than
normal speakers.

. Slower

7 Higher

3. Moderate
4. No change
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A child says “Ismle” for “Smile™ 1s this error

1. Substitution
2. Omuission
3. Distortion

4. Addition
2 DI ""'E&g’ %5 2adhen "q@&g’ @9 HeniHdod 8

B850
1 myg@ﬁ
2 2088
3. &%gs
4. @30S
Options :
1.% 1
2. %)
3.% 3
4. ¢ 4

Question Number : 79 Question Id : 3922661039 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The voice disorder found in children who have no ‘residual
hearing’

1. Breathy voice

2. Harsh voice

3. Falsetto voice

4, Pharyngeal tension
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Vaghmi device is used for children with hearing impairment in
teaching

L Auditory training

2. Speech

3 Mobility

4. Social Skills
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Number of little muscles in the middle ear
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This 1s not preventive measure to reduce hearing impairment

1. Immunize all women against Rubella

2. Encourage consanguineous marriage

3. Encourage hospital delivery

4, Create awareness on noise induced hearing loss
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Kindergarten Method was introduced by

L Montessori
. Fredrick Froebel
3, Bell

4, Caldwell Cook
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Giving clues in brackets. use pictures in sheets in a test to
children with hearing impairment 1s a adaptation of

1. Syllabus

2 Co-curricular activities
3. Evaluation
4, Teaching learning material
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These practices can help the children with hearing impairment
having unregulated breathing patterns. less intelligible speech

2 Memory drawing and painting practices
2. Project work like food, houses etc

3. Sand castles practices

4. Music and rhythmic practices
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Sound awareness. Association. Imitation and Expansion.
Auditory Comprehension are the stages of

i Reading

2 Listening
3. Writing
4, Speech
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The problem area of children with hearing impairment

1. Well resource and infrastructure
2 Good social structure

3. Positive attitude of community
4. Multilingualism
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The process of sending a message 1s called
L Encoding
2. Decoding

Bi coding

fad

4, Encrypting
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The process of sound production in speech 1s called

1. Intonation
2. Speaking
3 Articulation
4, Imitation
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This can touch the upper front teeth for production of sounds
suchas |[f|and | v |

1. Tongue

7 Lower lip

3. Upper lip

4. Soft Plate
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Early identification and intervention is prevention of
impatrment

1. Primary
2. Secondary
3. Tertiary

4. Peripheral
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This 1s a Tactile Aid for children with hearing impairment

1. Fonator speech trainer
2 Speech Trainer

¥ Group hearing Aid

4. Mirror
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Child draws a picture with the suggestions of teacher in a
sequence to complete it. This step in auditory training is called

I, Discrimination
2. Awareness

3. Identification

4, Comprehension
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This is not an auditory verbal therapy

] Learning through Listening
2. Providing clear speech

3. Parents as teachers

u3 Parents as observers
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Optimal use of a Hearing aid enhances this in children with
hearing impairment

1. Minimum hearing
2 Residual hearing
& Listening

4. Sensory
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This 1s NOT suitable in curricular adaptation for children with
hearing impairment

I Making complexity

2 Making content reachable to all students
3. Modifying content

4, Making the content easily accessible
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Selection of a hearing aid and fitting comes under planning of
this programme

Communication

e

Rehabilitation

Diagnosis

4, Adaptation
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Match the following
1) Respiration a) Vibration of vocal folds in larynx

11) Phonation b) air stream from the lungs
iii) Articulation  ¢) Modulation of sound produced by larynx
iv) Resonation d) Speech sounds by movements of tongue.

lips. Teeth and Palate
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Sounds produced by a complete closure of air passage and
released with an explosion are

1. Fricatives
2. Affricates
3. Laterals
4, Plosives
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This 1s the subjective hearing test

1. Impedance audiometry

1o

Pure tone Hlldjﬂlllﬂ‘fl'}"

Oto acousfic emission

[N

4. Brainstem evoked response audiometry
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The change in position of an object with time is called

i Acceleration
2. Force

3. Energy

4, Motion
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A simple pendulum of length ‘/° takes “x’ seconds to complete
10 oscillations and “y” seconds to complete 15 oscillations.

The ratio = 1s
¥

T 2pES) KORS 2.¥ 3&;:&;55 Stoxo 10 Sfoaren DS

L —y 3
X DEDew, 15 Eloaren DA ¥ DEDen Ste0 AoSAS

2 e
y

1. 322
2. 2:3
3 RSl |
4. 9:4

Options :



1. %1
2.9 2
3.% 3
4. % 4

Question Number : 103 Question Id : 3922661063 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the athlete takes 22 seconds to go once around the circular
path of radius 35m. his speed is

1. 0
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2- ET
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4. 36
h

2.5 S8t 35 Q. TR"Eo KORS 2.8 SIS~y $vo
Soey 2,538 IHEE 22 DEoew H0S08 wsd 38

1. 0
33 B
5 mE
22 .
95 & O
3 = e
9 Ao
&5
4, 36—
0.
Options :
1. % 1
2. % 2
3. % 3
4.9 4

Question Number : 104 Question Id : 3922661064 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The incorrect statement regarding pressure among the
following 1s

1. It is the force acting on a unit area of the surface
2. Fluids can’t exert pressure

3. It’s units are Pascal.

4. It 1s always compressive in nature
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Force acting on a body 1s directly proportional to

1. momentum of the body

2, rate of change in inertia of the body

3. rate of change in momentum of the body
4, inertia of the body
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The correct relation between acceleration due to gravity (g)
and universal gravitational constant (G) 1s
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The ratio of CGS units to SI units of universal gravitational
constant (G) 1s
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The relation between Kinetic energy (K) and momentum (P) is
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. gl
A lamp consumes 1 KJ of electric energy in - minutes. The

power consumed 1s
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Sound can’t travel through

8 solids

2, vacuum
3. liquids
4. gases
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A person clapped his hands near a cliff and heard the echo
after *+" seconds. Velocity of sound 1s V" m/s then the
distance between person and cliff is
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Rate of evaporation of a liquid doesn’t depend on

L. Surface area

2 mass

3. temperature

4, amount of vapor present in surrounding air
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An object 1s placed at a distance ‘x’ from the plane mirror. The
distance between object and image 1s
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The radius of curvature of a plane convex lens in 20 cm and its

refractive index 1s = . The focal length of the lens is

|‘-.:||':)J

(1n centimeters)
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When electric current flows through a wire, match the
following

P) Heating X) Element
Q) Melt quickly Y) Fuse
R) Behaves like magnet Z) Electric bell
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There are ‘»’ 1dentical resistors each having resistance ‘R’. the
resultant resistance when joined in parallel is 4. then on
connecting them in series the resistance will come out to be
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A : Attraction 1s the sure test for magnetism
B : Repulsion is the sure test for magnetism
1. both A and B are correct

2. both A and B are incorrect

3 A correct, B incorrect

4. A incorrect. B correct
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Units of magnetic flux density is

weber’
meter
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Correct precaution to be taken among the following during
lighting and thunderstorm and when you are away from home
15

1 Carrying an umbrella
2. Stay at elevated place

Stay m closed vehicles

Lad

4. Get shelter under the tall trees
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Stars appear to move from
1. west to east
.4 north to south

cast 1o west

LS ]

4. south to north
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In calcination. carbonate ore i1s converted to

1. oxide

2, sulphide

3. sulphate

4, carbide
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The adopted method to extract highly reactive metals from
their ores is

i Reduction with carbon

2. Reduction with carbon monoxide
3 Electrolysis of fused compounds
4, Auto reduction
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The structural formula of isopentane is
oFDOES SBooE), EJD“&EF&&% iﬁ‘d}&ﬂﬂ
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The incorrect statement about soaps is

I Soap is a sodium salt of a higher fatty acid

2, Soap 1n an electrolyte

3. Soap molecule has hydrophilic and hydrophobic ends
4. In saponification reaction fatty acid treated with acids
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The correct observation. when iron nail is dropped in copper
sulphate solution is

1. Copper sulphate solution becomes colourless
2. Copper sulphate solution turns to greenish
3 Iron nail turns to blue

4. Brisk effervescence took place
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The wrong combination among the following is

1. Soda water - solution
2. Cough syrup - suspension
% Soft drink - single pure substance

4. Milk - colloid
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A : Liquds have no fixed shape but have a fixed volume.
Liquids are not rigid. they can change shape and flow.

A comrect. B incorrect

i el v

A incorrect. B correct

Both A & B incorrect

4. Both A & B correct
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Atomic masses of sodium and oxygen 23 u and 16u
respectively. the formula unit mass of sodium oxide is
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“No two electrons of the same atom can have all four quantum
numbers the same™ This 1s

1. Auf bau principle

2. Pauli exclusion principle
s Hunds Rule
4. Bohr — Bury principle
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Triads : Dobereiner : : Octaves : ]
1. John Newlands

2. Robert Boyle
3. Mendeleev
4. Mosley
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Assertion (A) : The second 1onization energy of an element 1s
higher than its first ionization energy

Reason (R) : More the atomic radius. less 1s the 1onization
energy

Both A and R incorrect

A comrect. R mcorrect

2 =

Both A and R are cormrect. but R 1s not correct
explanation of A

[N

4, Both A and R are correct and R 1s correct explanation of A
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The formation of anion do not depends on

1. High ionization potential
2, Small atomic size

3 High electron affinity

4. Low electro negativity
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X : Covalent compounds are gases or liquids at room
temperature
Y : Covalent compounds dissolve in non-polar solvents

1. Both X and Y incorrect
2. Both X and Y correct
3. X correct. Y incorrect
4. X incorrect. Y correct
A: KD SPHS IG DHEredd Hororen
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A piece of aluminum foil is dropped in to sodium hydroxide
solution. The gas evolved in this reaction is

1. Carbon dioxide

2 Oxygen

: Sulphur tr1 oxide

4. Hydrogen
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The plastic used to coat on nonstick cook ware 1s

& Melamine
2. Bakelite
3. Teflon
4, PVC
TORE Sob(Ged Prem I RE
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The odd one among the following 1s

1. Paraffin wax

2. Bitumen

3 LPG

4. CNG

208 5S” HHJS
L oD oS0
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3. S22

4. ..

Options :
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Question Number : 137 Question Id : 3922661097 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The non-metal. which burns at room temperature in air is
1. Sulphur
2 Boron
3. Carbon
4. Phosphorus
KO &PHS 358 mOS” 5008 & o
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The incorrect statement about “Air’ is
1. Air 1s mixture of different gases

2, Earth is surrounded by a thin layer of air

LS ]

As we move higher the air gets denser

4. Water vapour in air is important for the water cycle in
nature
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In Chlor — Alkali process. the products are
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Question Number : 140 Question Id : 3922661100 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student tested the given sample with universal indicator and
noticed that the colour of solution turns to orange. the solution

15

1 Base

2, Neutral

3. Acid

4, Amphotenic
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Question Number : 141 Question Id : 3922661101 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The old scientist who studied about “‘the movement of celestial
bodies™ and collected lot of information about this

1. Galileo

2. Archimedes
3 Tycho-Brahe
4. Issac Newton
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In which year Galileo made Telescope for the study of
movements of celestial bodies?
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Question Number : 143 Question Id : 3922661103 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Educationist who developed *psycho motor domain’ of
the Taxonomy of educational objectives.

1. B.S. Bloom and others

2, D. R. Krathwohl

3. Elizabeth Simpson and R. H. Dave

4. Omell and Kelly
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When was ‘Roval society” was established in England?
JOITO&> 0L TS FPE'D AP FHOT?
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Options :
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Question Number : 145 Question Id : 3922661105 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Scientist who initiated practical studies in Sciences among
the given?

E: Galileo

2 William Harvey

3: Nicholas Copernicus
4. Roger Bacon
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A student compared two concepts/things of Physical Sciences
and gave the similarities and differences in between them.
Which objective is achieved by him?

1. Skall
2. Knowledge
3. Understanding

4. Application
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A student had identified “SO,™ gas with a filter paper dipped
in acidified K,C,0; solution. which changed its colour from
“orange” to “pale green” to which objective does it belongs?

1 Knowledge

2. Understanding
Skall

4. Application
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A student accepted his mistake openly in an experiment. To
which objective does it belongs?

L. Appreciation

2, Interest

3 Scientific attitude
4. Understanding
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Which is the first step in scientific method?
1. Identification of problem
2. Defining problem

Collection of data

T4l

Testing the hypothesis
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Teachers, subject experts, Non-teaching staff and other staff
untidily carryout this teaching process. Which of the following
is it?

i Lecturer method
2 Historical method
3 Team teaching

4. Micro teaching
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Which method of teaching was proposed by Thomas F. Gilbert ?

1. Team teaching

2 Mathetics programme
3. Micro teaching

4. Individual teaching
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A teacher has taken his students to “local water storage tank.
and has explained how the water 1s purified in the plants and
then allowed for distribution through pipes across the town™ —
To which method does the activity is related

1. Lecture method
2. Laboratory method
: Problem solving method

4. Project method
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In the laboratory one of the following “‘chemicals set” should
be stored separately

. Magnesium Oxide, Zinc Chloride

2 Hydrochloric Acid, Ammonium Hydroxide

LS ]

Barium Chloride. Calcium Chloride

oot

Potassium Carbonate. Zinc Chloride
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National Geo-physical research institute 1s located i which
State

1: Bihar
2. Assam
3. Kerala

4. Hyderabad
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One of the following gives comprehensive information about
each question of a test

1. Blue print
2 Question wise analysis
3. Weightage tables

4. Scoring key
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According to Searfoss and Readnece the essential cue systems
in the reading process are

a. Graphophonic
b. Semantic

C. Syntactic

d. Pragmatic
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Visual. Auditory. Kinesthetic. Tactile (VAKT) 1s one of the
approaches of

1. Multiple ways

2. Multiple modes

3. Multi sensory

4. Multi categories
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Appropriate way of teaching the abstract concept of
“Malleable™ to children with hearing impairment

1. Showing pictures of hammer and aluminum sheet

2, Showing a picture of a hammer hitting an aluminum
sheet

3. Narration of activity on a written slip

4, Playing an audio of goldsmith experiences
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This 1s not phase of micro teaching according to J. C. Clift
L. Pre teaching phase

2. Skall acquisition phase
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Transfer phase

4. Knowledge acquisition phase
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Name the skill of a child measuring required amount of fluid
volume through pipette in laboratory

1. Manipulation skill
2 Drawing skill
3. Reporting skill
4. Observation skill
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